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From the table, find the probabilily that a pupil play baskel ball

MR.Ahmed Hassan
Game football basketball | handball

number
of puplie 50 40 10 lao
. Lo
@ﬁmnguﬂmand g¢: 4 lep = 5
s g1 5% 52 8
‘4 4' 5 2a
caie fgurS
In Iﬁgup-puslrta figufe :
if ME = 3cm , then calculate the perimeter ol the square
A gaM g

[MR.Ahmed Hassan i

D C




goa I 1
Third:find the result of 65.384

@) 65384+ 63.427 = oo ]2 BN |
s, |
@ 17755 015 =~ ... §575  [S) (tothe nearest hundredth)
0
o2 a.2c6d5= a.L7
@ A Y 17 Jh v ——
|2e R
@ 3 _:li_ R % o
[MR:Ahmed Hassan 2-y3=2.45
(29 A rectangle its area 9.43cm’  and its width is 245 cm .Find its length
approximated the resull to nearest hundredth . Y X
(29) In the opposite Figure : [WR Ahmed Hassan]
shade xNynz -

Z
@ Draw the triangle ABC where :

AB = 4cm , Bc = 6cm , cA = Bcm them draw acircle its centre B and its
radius 4cm,
Cemplete: .......... BA. .. e |

alled a radius in circle

[MR.Ahmed Hassan




@{521 ....................... 152) (€, €,C . ¢)

When tossing adie once _the nrahabhility of a nnumhurdtuislhla
@ g oncahe N| y of appearing

by2 = (1, 3, _ ] )
2 - S ®
@) v-(2,4,60U01,2,3),then 6oy (€, €, C, ¢ )
. Q.60
T 05734 EJ_?;.—- (=<,2,=,%5)
Second: Complete: - =
In the opposite figure: \
a) MA = MB ........... P, A B B
B) The longest chord in the circle is... A B
4 .6 ® M 2 c

7 R ET

@ The probability of the sure event = l

u e % AN i i i

2.4 decimeter = x lp..=.2k...cm.

Y
X
@ xny rod Lo,
Hﬂ.lhmnl Hassan| 8
6
12
HAQ”’«H;,:
-fh\ L., ! IF.!B ’.}
1HH.Ahmld'Hlmn ry



First : Choose the correct answer:

(‘D The triangle whose measures of their angles Eﬂ.ﬂﬂ.ﬂ] B rer tannsie

(acute angled triangle, obluse angled triangle, right angled triangle,
otherwise )

i

4 2 a3
@43123.?*.% (1,10,11,111)

It (7,10)C (10 JAhe X = s 3,4,5,86
® t\_)ﬂ ) C (10,6< d), the x (3 )

@) 3755% 1000 = ... [MiR-Ahmed Hassan] (0.375,00375, 3750, 37.5)

L) 1 £ (<,2 ,=,2)
@ 2[:'3 > 3 '

. The Shadded part is .............

[ XNy , XUy , X~y ,xcy)

(@ 55241 x100 [] 5224)x10 (<,>,=, %)
(®) There are ...........c..... -heights in the acute angled triangle
. Imhmﬂﬂlmﬂ tu '1- .2.3]
g1 8 3
® 43day =~ .\ to nearest week (4,8,5,7)
|a
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